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(A)125 Hz (B)1,000 Hz (C)20,000Hz (D)25,000 Hz
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(C)1,000 %] 4,000 Hz (D)6,000 3] 8,000 Hz
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(l);:g%j:}ﬁ % (hearing impairment) (5%)

(2)_F # 1+ 47 & (upper cutoff frequency) (5%)
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3.Please describe the innervation pattern within the cochlea. (15 %)

4.Please describe how the middle ear compensate the impedance mismatch between middle
ear space and the cochlea through the explanation of these three phenomenon:
(a)Condensation Effect (Areal Ratio), (b)Lever Action of Malleus and Incus, (c)
Curved-Membrane Buckling Principle, and calculate the compensation ratio. (15%)
5.Please describe the coding mechanisms used in the auditory nerve to transmit information
from the ear to the brain. Know what is meant by: threshold tuning curve, characteristic
frequency, firing rate, place theory of hearing, phase locking, volley theory of hearing.

(20 %)




